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Barl; ; TH T

@ -md ts found in —
Onk distriy

(B) Bhiiwarzi district

©) Ajmer district

(D) Alwar district

T Riciera, o 5 ol 19 A 95 oy
HIFT STe 8, wred g & —
(A) =f5 Rt o
(B) Hrerarer fver &
(C) aor forar o
(D) areew forar &
2. On which river bank
Civilization spread?
(A) Mahi
(B) Saraswati
{C) Bedach
(D) Banas

was the Gilund

freqes e fre 7 & R el g4 of?
(A) \TEY
(B) \xxa)
(C) 353
(D) 59119
~8.  Where in Rajasthan the Cantonment Board
has been established?
(A) Jaisalmer )
(B) Neemuch '
(C) Nasirabad
(D) Jodhpur

Wﬁmﬂiﬂﬂéaﬁwﬁﬁﬁ"ﬁ
&

(A) SrgaiR

(B) #iw7

(C) A8HIvraTE -

[EWUS

4. Which one of the lollowing temples does no
belong 1o the Gurjar- Pratihar architectura
style?

(A) Someshwara temple of Kiradu

(B) Sun temple of Osian

(€) Dadhimati Mata temple of Goth Manglod
(D) Shiva tcmpldnl' Charchoma

Prafafen & & wa—ar aRr TeR-—vRER
are] el & AEI 2?

(R) fsrg, &1 WhiveR wfaR

(B) st w7 ¥ wifeR -

(C) Tra ATATE @ =femiy A #RER

(D) arEm &1 e |

> ldentify the Chief Ministers of Rajasthan, who
have also served as Governor —
(i) Mohanlal Sukhadia

(ii) Hira Lal Devpura

(i11) Shiv Charan Mathur

(iv) Jagannath Pahadia
Choose the correct code -

(A) (i), (ii1) and (iv)

(B} (i), (i) and (iv)

(C) (i), (i), (1) and (iv)

(D) (i), (i) and (ii})

e B YR o1 ffa S, e
I B Wy H N w -

(i) AEee ey

(it) ERT FAT TaYRT

(iii) fRra ==y WRR

(iv) ST R

/e o BT A B -

(A) (i1), (iii) 3R (iv)

(B) (i), (iti) 3R (iv)r

(C) (i), (i), (ii) AR (v) >

(D) (i), (i) A i)

e

e -

e —————
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L) B

(D) -{ikfl\;
919 gfy,
(A) Aoy o 5.
(B) ST .
(©) fi gi?zf" fiey
(D) Rrapegy %%v p
7. ;
Dune free cludes -

A) Jodhpyr - O Rajasthan in i

IBJ Hanumanga::]gﬂur B (‘;I;I]U mGanganaEar

uUnjhuny .
(C) Bik ~ Jaipy
Bikaner _ Jaisalm;_ phalodi — Pokhran

(D) pajj _ Jalore _ Barmer - Jaipur
;iﬁmnq q g Hery e urdl A E
) SIMGY oy S e
® ETTTE — srpree - 571~ TR
(C) §imrw — ey — e — aIErT -
O) Tl — Aol _ greiy — TR
8. Which one of tpe follou;'ing (Soil - Districts)
IS not correctly Matched?
(A) Red and Yellow Jh.i‘:tlawﬂf and Kota
(B) Red Loamy - Dungarpur, Udaipur
(C) Brown Sandy Alluyial - Bharatpur, Alwar
(D) Medium Black - Bundi, Baran

aﬁﬁ'ﬁgﬁ?ﬂ H ¥ By (g — ) gl
(A) oTTet SR dreft — gremare, BieT

(B) &Ter @it — FIRyR, SEAYR

(C) & eflell FORT — WA, AR~

(D) wexs refl — §dY, 9w«

Dev Vimans made of wood whose tableau is
taken out on the occasion of Dev Jhulni
Ekadashi are called -
(A) Bajot
(B) Choupde
(C) Bewan
(D) Khande

qJ5E $ g9 2@ A et g gon
vaTedlt R el fAde Wt @ dEa § -
(A) grre
(B) #us.
(C) darur

b=

iDY 7aq1=2

Sundha Mata
Guda Vishnoiyan
Gogelav
Beed
List — 11
(District)

. Jhunjhunu

a
b. Nagaur
c

. Jodhpur

d. Jalore - Sirohi

Code -

(A) 1-(a), 2-(b), 3-(c), 4-(d)
(B) 1-(d), 2-(c), 3-(a). 4-(b)
(C) 1-(a), 2-(b), 3-(d). 4-(c)

(D} 1-(d), 2-(c), 3-(b), 4-(a)

— 1o g - I A gafaa i
f&d T FH/E B AT B FE S
T g —
o -1
(Fracia weidm &)
FRIT T
[EERIERIC]

1
2.
3
4.

e

II

=3

gl

d. W — faRd

HZ.E i

(A) 1-(a), 2-(b), 3-(c), 4-(d)
(B) 1-(d), 2-(¢), 3-(a), 4-(b)
(C) 1-(a), 2-(b), 3-(d), 4-(c)
(D) 1-(d), 2-(c), 3-(b), 4-(a) ~

TEYR

1. When is ‘World Tourism Day" cel

(A) 25 December
(B) 10 January
(C) 27 September
(D) 8 May

fave wiex fRaw’ $9 7= o
(A) 25 feaw=R

(B) 10 FHaA

(C) 27 FyawR

(D) 8 %13
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wfjf Jaipur Singh - 11 itled as
A A”mﬂgzcb

®) Muazzam

(C) Azam

(D) Jahangir

TR By

Surfer & of _

(8) Sirorg 3

(B) faroom 3

(©) o 3

0) SEifir 3 .
3 Where s the  “Rajputana

established in 1908 AD?

(A) Udaipur

(8) Jaipur

{C) Chittorgarh

(D) Ajmer

1908 §. & wnfia “wroagarn JRIET FE
2
(A) TR -
y (B) sragw
(©) ferftsTe
(D) 3ror
14. Which of the following pair is not correctly
matched?
(A) Karauli Prajamandal - Trilok Chand
Mathur
(B) Jhalawar Prajamandal — Mangilal Bhavya
(C) Mewar Prajamandal ~ Balwant Singh
Mehta
(D) Bikaner Prajamandal — Pandit Hari
Narayan Sharma

Prafafea 4 & 7Taq @ @ UEAH
AAG —

(A) el gmisel — Prelld 9 TRR

(B) Frenarg oS — wiftard W

(C) 9ar8 yoHger — doaa fig dgar

©) e yamey — ofda s aREw It

TafiE- 1 B wed o

Museum”

15,

16.

17.

————
5

Who was the A.G.G.

of revolt of 18577

(A} George Patrick Luawrence

(B) Sadier Cottom

(C) Col. Homes

(D) Mr. Burton

OF Raiace
Rajasthan at the time

1857 @ RE® ¥ T I5meenw @1 AGG
HI oaT?

(A) S e it .

{B) e ®IcH

(C) e B

(D) freR @EA

Dayaram Sahani, Neelratan Banerjee and
Kailashnath Dixit played a major role in the
excavation of which civilization?

(A) Gilund

(B} Bagore

(C) Aahar

(D) Bairath

AR FEA, RS A wd demern
T @1 e Il & I o e g
REI7 &

(A) fireps

(B) IR

(C) ars -

(D) &R18

Avika Kavach Yojana is related to which
animal?

(R) Cow

(B) Sheep

(©) Goat

(D) Horse

e Haa Ao $ ey fea oy | 87
(A) Ty
(B) 3g
(C) T
(D) =g

114 @
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18. “"hll-‘h on

[

iy = "
Was g . the fo : .« of Rajasthan
"”“"‘”trn:li e :If]“m.n: I-;l:;::h of a large
(A) N hki sy rh;‘r \r:‘::il' 2197
(B) Keolage, 3
(C) "\”“-“la_lar
(D) Sambp,
Ty 2 :
e é;‘;; ;_mer.-; o frer & @ TR A,
t?I; ?‘Eﬁp ?‘n q:fT ﬂ Eﬁ’f ‘éﬁ’_\’
(A) oy
(B) ;
{©)
(D) \ryy

19. Dag - Gan

Slon
ST—Trey : _
(&) 2o ‘Ilﬁafﬁaﬁ
(B):mﬂﬁ J=g W Tder 3
fc)iﬂ'@?ﬂ m#-

(D)G’T‘l'ﬂ‘afmzﬁm#

20. Which of the following jg a farmer movement
related to Bhil tribe?

(A) Mewar Pukar
(B) Neemuchana
(C) Zakat
(D) Bhagat

Frafefea & ) s gve s A
TG & w27
(A) #ars gaTe
(B) sfrsaron
(C) SropreT
(P) e
2. How many districts in Rajasthan were
affected by drought in the year 2002 - 2003?
(A) 30
(B) 32
(€) 31
(D) 33

230

ad 2002 - 2003 | ToTEAH A fpera e G
R garaa 47

() 30

8y 32 -

© 3

(D) 33

In Desen Development Prngrm.nmc “tit::.
funding ratio between centre and state
effect from 1% April, 1999 was -

(A) 601 - 40

(B) 50 - 50

(€} 30 : 70

(D) 75 .25

9% Ry eddd § 1| a0A 1099 § &= AR
Yo & dra fadha "egm &1 99| oA —
(A) 60 : 40

(B) 50 50

© 30:70

(D) 7525

Which of the following Constitutional
officials of Rajasthan are appointed by the
Governor, but cannot be removed from their
office by the Governor?

(i)  Advocate General

(ii} State Election Commission

(iti) Members of Rajasthan Public Service
Commission

Choose the correct option -
(R) Only (i) and (iii)

(B) Only (i) and (ii)

(C) Only (i) and (iii)

(D) (i), i) and (iii)

I @ et 8 @ B St
TP T R P R oy
AP IR TUE gR 99 TE ¥ |
BRI &1 Hepal & —

(i) wEaEn

(i) U fatea smyam

(i) TR S Var dmT B weaw
WE faven &1 w3 Mg —

(A) B (i) 3R (i)

(B) &9d (i) 3R (i)

(C) @ad (i) MR (i)

(D) (i), (i) AR (iii)
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24. Which of the following

matched regarding Tejaji? IS not correctly T H qungﬁ P g
(A) Sursurg -Cemetery site (PMKSY) @1 &% U4 350 @ 419 f&w o,
(B) Rhurnal'aiﬂhplucc ) AT 2 - I
(©) Paner-Nanihal (A) 50 : 50 i
(D) Parbatsar - Fair place . (6) 60 40 !
XKL ©5:15
AN § e . N
- o~ (D) 40 : 60 "
A AT Frafifag § ¥ at-wr :
IS Pl T8 7 &3 28 Who was the famous as poet and painter
(A) =T ~ wmify eSS < Nagari Das?
(B) TR — oy I - (A) Raja Vrandavandas ‘}
(©) T77 — Afyers . (B) Raja Sawant Singh
(D) qrgew — (C) Rana Kumbha
25 . ) e 1 o (D) Raja Krishandeo
. h‘l.Wthh district of Rajasthan does the Sun g
i shines vertically on 21* June? N BT R TeTE @ wa 3§ B o
F (A) Gang;magar (‘_E; o7
(B) Ajmer - <t (A) 5T gRIgAST
(€) Jodhpur N (B) 3ron wrawd i -
(D) Banswara (C) o HEm
; (D) X1 F®T T
2l ¥ 3;;?1# I [ g 29.  Which of the following river does not belong
ROk ~ to the Inland Drainage system of Rajasthan?
(A) TR N (A) Kakni
(B) 3rTHY & (B} Dai
(C) SR - <t {€) Medha
(D) araarst A (D) Kantli
26. What was the Capital of Chauhan rul ) :
Sahasm‘;}; P v 4 frafafed | ¥ R-® T Toem @
(A) Shivganj \ 1(:\)1 ITARE JUAE T Q N T8 &7
(B) Achalgarh B S o e
(C) Sirohi ﬁ (B) s7€ _
der qv B wenE geeHd @ Jour |0 () @
gy off? A 30. Which pair (Dam — District) is not correctly
(A) f?’m matched?
8 (A) Panchana - Karauli
SrHeTTE (B) Jawai — Jalore
(C) faxid (C) Chakan - Bundi
(D) gTach (D) Meja - Bhilwara
27. The Funding Ratio between the center and
state of Pradhan Mantri Krishi Sinchai Yojana _ g™ (@ ) W& w
(PMKSY) in Rajasthan is - (A) grE=T — Fh
(A) 50 : 50 (B) Warg — Wi -
— 6
25 : D _
() 40 60 (D) AT — A4St -

B
e —
S

Id m i a2 af 24
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7
oy

114 (@

.

- Chief Min,
3. Tht "“\t(-r y " because
of his controve, 'r‘-'-_lm had to l:t"'i";‘tcss C
a (A} Jagannath P“had Cinarks on a pt
(B) Handev Josh, I
(C) Mohan [ ) Suky,,...
(D) Shiv Charyy, y, '“dia

ill}mr
e
(8 ﬁ iy b2
(C) W& wTe N
(D) fRrarereoy w?:gﬁm M

32. The famous ghud

- : f
Marwar started da festival (ghudla dance) o

g OfJOdhpur? uring the region of which :“zg
(A) Rao Sata] o4
(B) Rao Maldev t
() Rao Jodha =
(D) Rao Ranmal <+
<=t
ARATS & ufg IS ey (GO T¥) B
TR TR S Ry e & 718 4 g€ |
(A) I e - b
(B) 319 wrereg X
(C) XM@ Wiy pAY
(D) 7 IoTTH 3
33. Which Princely State first Signed Instrument <=
of Accession?
(A) Bikaner
U
(B) Kota Eb
(C) Mewar gj
(D) Jodhpur 3§
p
fre e Rarem A Reg w5« wdwem <§
gwaRR f&y? il i
(A) TR -
(B) ®ler
(C) AaTS

(D) SRR | q
Which statement about Rajaslthanjn is correct?
(A) Its North to South extension in 869 km
(B) It has rhombus shape

(C) Its land boundary in 6920 km

——

TR & oan
(A)
(B)
{C)

; ¥ F-A mum w20
SUDT I A R Rream k60 BRI

$HDT WHR famwany LA & R
ALY oA di g, -

S : .
©) 3ot 342120 i o 2

. l 3 - "
ph::rn:chl;:)n of Rajasthan dig Yahangir and Sir
as Roe meet for the firg t
(A) Mandalgarh e

®) Akbar fort (Ajmery
C) Jaigarh (Amer)
) Alwar

?ﬁrﬁq:mmt”m?laﬁm 1616 4 yom
g?ﬁmwamma%afaﬂﬁgé
(A} igermg
(B}Wm%m{m)'
(c;m(mm)

(D) arerax

36,
The long Ghaghra worn by the women of Bhil

tribe is known as -
(A) Koo

(B) Kachahu. r

(C) Katki @

(D) Jama

W wonfa & Rt gRT ues W A
R e R AW ¥ W oo R 98
2 -

(A) 7,

(B) woTg

(C) @y,

(D) T

37. Ragadi is sub-dialect of which dialect?
(A) Mewati
(B) Malvi
(C) Marwari
(D) Hadaoti

wrd) s Al 1 Su-aelt &
(A) Tl
(B) Al
() ARarS!
(D) et

e ———

(D) Its area 1n 3.42.329 5‘1_‘_{_1_“_,4_’—///

i

Page 7ol 24
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A) 1519.20 ¢
(B) 154142 %
(©) 154445 ¢
(D) 1436-37 ¢,
* Which among the following is not a
chordophonic folk music instrument?
(A) Rawaj
(B) Ravanhatha
(C) Bhapang
(D) Madal

frafafaa 3 @ st aq e a@ g 38
&
(A) vaor

(B) Yravrgeern ﬁ

(C) wgar
(D) 715"

40. Under whose Chairmanship a huge
convention of Meena Caste was held in April
1944 at Neemkathana?

(A) Hiralal Shastri .
(B) Shantisagar Ji Maharaj

(C) Shobhalal Gupta
(D) Magansagar Ji Maharaj

foaa sraear § Aom wnfy &1 U o
THAT HYA 1944 H AHERIA 3 AR
garm 1’

(A) BRI I

(B) wrifaremk off AERTS
(C) erraTeTTed I

(D) AR ol HERTA

a1,

43°

| =
Current rating is Bot Necessary in case of
(A} Isolators _
(B) Circuit breakers i
{C) Load break sWilcheg y
{D) Both (B) & (©) t

frg @ fare IRT ¥ yreeares & 2

(A) argRTEEY ~

(©) dre aw fad

(D) (B) 3R (C) &

Which of the following falls under the
category of the fusion or non-pressure
welding?

(A) Resistance welding

(B) Ulirasonic welding

(C) Metal Arc welding

(D) Explosive welding

frefafad 3 9 $R-W wEE @ N <am
afeeT @1 AN F aman &2

(A) gt AfegT

(B) arceTafA® afeeT

(C) e AfET -

(D) faemies Afesn

Transmitted power remaining the same, if
supply voltage of a D.C. 2-wire feeder is
increased 100%, saving in copper is -

(A) 50%

8 100% -

©25%

©) 75%

ot e W e R AR 2arr S
WIS B IR AR 100% 7 R R, A

AR A TEa B @ -

(A) 50%
(B) 100%
(C) 25%
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h of the following automatic welding P
. 0°C and 62 at

Fra “‘hif s 15 NRkely o g aximum rate of Koo
1'-(‘\(:' D‘_Pl,l_qi““n‘-‘ Eive m R”:z-‘\l!.'[am:e measures 402 at 4 ) are.-
;‘:;(L-;‘IF shiclded bare wjp.¢ ) ‘-I-';t T = 0°C the resistance will meas
) Sin&‘!" wire s.u‘bmcrgcd arc . (8) }.5
(©) pultiple power Submepged arc (C) 5 Q
(D) Centinuous flux COvered clectrode () ;g
fpraferfad # W B Teanfarg afesn uftsar
aig & T B Moy gz 3 B FHIE E%m%wan#vso‘cmﬁfi
?? . {A) ‘L%_ Fﬁ']"=oocq?“ﬁwﬁ;ﬁﬂ[ ﬂia‘“.
(A) g oRREE T g 5 30
ar 15
(B) U<t STeTH T oy (©) 2$1Q»
(€) TPINF AT Tofaes oy . ©)
(D) PRER HATE HaAY gorapre %__Am
45. The form factor of sinygoidal alternating = Si:lQ half ~watt resistor and 3302 half-watt
current is - Wh; Or are conneted across a 12V source.
(A) 0 & ch one(s) will overheat?
8 111~ ' ¥ ’
(C) 1 e 3300 ﬁ
(D) 1.15 }B‘th resistors ~
) Neither resistor
frely gearaeti aRT BT Wi wge fraar
27 i ' BT I 33 Q amrare ABy aren AR 330Q
' SHIAE g aren T 12V S W e
(Ao §1 B | @ a1 sarer e @i
(B) 1.11 A 33
(B) 3300
€1 3300 .
(D) 1.15 ()t st
‘ (D) ¢ yerverd &

46. If 8, is mechanical degree, 6. is electric 49-% A coil of self-inductance L is connected in
series with a bulb B and an AC source.

degree and P be the number of poles on D.C.
then which of the following Brightness of the bulb decreases, when -
(A) An iron rod is inserted in the coil.
(B) Frequency of the AC source is decreased.
(A) 6, = 26. P (C) A cupacitance of reactance Xc¢ = X, is
included in the same circuit. »

(B) Bm = 29: /P"

(©) 0. = 26, P . (D) Number of turns in the coil is reduced.-
e - m

(D) @. = 20, /P .

generator,
equation is valid?

w-e@ L B TSl UF a9 B iR v
AC B @ TR A F o ¥ | gem o

aﬁemﬁa%ﬁamfaﬁ%,ecs'&’rﬁgas%m% ¥ gfy
aiik p e @ v @ A TR A, A W‘ﬂﬁmawa:?
& B IR B9 & o 2

g ¥ aa"ﬁmﬂﬁiﬂﬁ’“'“ﬁ?? (8) AC
(A) g, = 26. P Xc':XLEﬁWEHﬁﬂTW
2 {cmﬁﬂmﬁgﬁaaﬁmél

B =2cl{P .
®) 6 = 26 ﬁmﬁmmam%.

(C) 6. = 20, P D e,
‘D) 9c= Bni JP.P //—-_//
o Page 9 of 24
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11 &

Ca

(A) 0.8

(B) 0.9 ﬂ

(C) 0,95
(D) p.8g

Proper selection of welding depends upon, i,
addition to cost involved -

(A) Kinds of metals to be joined

(B) Nature of products to be fabricated

(C) Production technique used

(D) All of the above

ST &1 I TAT IW AT W PRk gy
g, & su mfYe arma @ s -
(A) mfyer 8 & g ergel & TR
(B) 713 OIA aTet IeUTEl B WHfY
(C) SeuTe=1 adid FT FRWT fhay
(D) Iudyae wt
52. Which of the following will vary the
maximum torque in a motor?
(A) Rotor Reactance (X)
(B) Rotor Resistance (R)
(C) Both (A) & (B)
(D) None of the above

fFrefofae % & @19 AleX ¥ fedad <
®I gger?
(A) Jrex gfafkar (X) (RR&ew) -
(B) Fex UfRRT (R)
(C) (A) 3R (B) g1
(D) g el
When maximum starting torque is obtained in
an induction motor, than rotor power will be -
(A) 0.5 Lagging
(B) 0.707 Lagging
(C) Unity (1)
(D) Zory ()

51.

857

(B) 0.707 affm -~
€ % (1)

(D) 377 (0)
In lap winding the no. of Brushes is equal is .

(A) 2 x no. of poles
(B) 2

(C) 4

(D) no. of poles

o IR § g Y wer awEw S & -
(R) 2 x 91 P e
8) 2

(C) 4

(D) oy & w@ -

The phase difference between the primary and
secondary voltage of transformer is -

(A) o°

(B} 270°

(€ 900

(@) 180°-

SEETR e dew R fRds
dee & 4 B RS B € -

(A} o

(B) 270°

(€) 90°

(D} 180°

- If the measured insulation value is more than

unity, what value should be taken as the
maximum working value?

(A 1Q

(B) 1 MQ
(€ 0.75 MQ
(D) 0.5 MQ

(€) 0.75 MQ
(D) 0.5 MQ S -
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. . {10~
§7. The given equivalent giyeyi belO"8
&

1

—#_‘
o—ww—L |
R R, Le

(A) PIN dicde

(B) Zener diode
(C) Varactor diode
(D} Tunnel diode

G,

——,HL_
o—wwww——w MAA 0
Rg Ry Le

(A) PIN STHIS
(B) G9% BTETE
(C) NFex s[IE -
(D) T SIS

88. Two coils having self-inductance of L1 and L2,
respectively, are magnetically coupled. The
maximum  possible value of mulual
inductance between the coils is -

(AL, + L

(B) /i, xL,
(C) L, xL>
(D)L, + L

g L 3R L @-IRFd a1 Q) gosd
gty § gfed € @ FSd @ 9
qRIRE IRebed &1 AASTH WG AH F1
&7

(A)L; + L2

B) /I, X1,

© L xL:

* In the circuit shown in the fi

DL+~

gure, find the
the "t s
EQA © T::- Tesistance

Current flowing through

5V 19
EAY

(A) 050 A
(B)0.25 A
©0.10A
© 075 A

R 4 vafitr ofaer 4 80 sfe @ sarfea
B 9N g s AR —

......
-------

......

5V 8Q v

(A) 0.50 A
(B) 0.25 A
(Cro.10 A
D075 A

+ For a transformer of the full load, cooper
losses are A and iron losses are B, then the
load at which these two losses would be equal
is given by - '

(A} Full load x \/A/B

(B) Fyjl load x \/B/A ﬁ

(C) Full load x A/B
(D) Full load x B/A

afy fre SEEER A G de HIW FAE A
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61.

14@®

62. When H32 the flux density, then eddy current

The value of current in the cireuit js

I MY (1

6%1: 20 v
N
> ]

(A) 5 A
(B) 10 A
{C)20 A
(D) 15

loss va as -
(A) B> ~—
(B) B"*S
€C)B ~—
(D} B3.2‘_"
R B Yorerd SfAd) 2 T US] #ve o
oI BN —
(A) B* . . E
(8) B'®
(€) B
(D) B*?
In lcr% ‘s is slip, then the ratio
Rotor Cqhyjer loss
Rurur&ﬁ_ﬂtput -
(A) (1 -85
(B) (s - ﬁ
(C) (8/] ) 7
(D) (1/1 - s)

dev Sl A
a2 s Rey & @

(A) (1-5%
B)(s-1)

84. What i
it ;
= 8 '-“"c.ﬂli” Eam of the gi\'cn b
darlingion pair? ey,
&l

(A} 100

(B) 3000
(C) 20000 ~
(D} 300

9 & 73 sifehren WS &1 WAT A™ a7
22

(A) 100
(B) 3000
(C) 20000

(D) 300
65. When Si NPN transistor in inactive the base-

to-emitter vollage is equal to -
(A) 0.6~

(B) 0.4

€14

(D) 0.88

34 Si NPN gifvreex ffdpa & & 8 @
- uftier dieeT IR B R -

(A) 0.6

(B) 0.4

(C) 14

(C) (/] - )
(D) (1/1 - )

(D) 0.88 -
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66. What .-'hnulf:ilbe the SPacing petween the two
conductors if the workip voltage 15 11kV?
(A) 76 mm
(B) 190 mm
(C) 101 mm
(D) 250 mm

afy FENA ART |y, A a L Al
# g feah o ey ?ITf%‘q‘.;
(A) 76 mm '
(B) 190 mm
(C) 101 mm
{D} 250 mm
6% “WHisliiof, the fol]owing automatic welding

processes is likely to give maximum rate of
metal deposition?

{A) Multiple power submerged arc

(B) Continuous flux covereqd electrode
(C) Gas Shielded bare wires

(D) Single wire submerged arc

Rl Ty B WA B wiiea @ & @
HHTET 87

(A) vopTfre wIfdd STerT = =g

(B) fARAx WaTe P golagie

(C) g gfxféra = ar

(D) v TR S\ dd

68. For the AC circuit as shown below, if the rms

voltage across resistor is 120V. What the
value of the inductor?

1kQ

V = 150+/2 sin 500t .

(A) 1.5H path

(B) 0.6H

. ﬁ,uﬁ el
%mmwﬁmﬁgﬁﬁ'qﬁ
%ﬁmlznvﬁ.?ﬂ )

BIT?

V =1504/2 sin 500t L

(A) 154
(B) 0.6H4
(C) 0.5H
(D) 1 0H

Find ‘i* by Maxwell loop (M

414012202

esh) method —

20 s5Q 5V

1w+

114012202

(A) 0.2758

(B) 0.3758 ﬁ

(C) 0.1758
(D) 0.1587

114012202

Yoo o () R w1 T SR —

50 i 5y

10Vt 40 aqQ

114012202

(A) 0.2758
(B) 0.3758
(€) 0.1758
(D) 0.1587

(C) 0.5H
(D) 1.0H
— Page 13 0f 24
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2 "‘r'—"-e_‘-‘._ -
R 'w'.. %m

70. When ic number of tumns Per unit length of
solenoid is  doubled its self-inducy, .a
becomes - e
(A) 4 times
(B) 8 times
(C) doubled
(D) same

D) T
n. WhiFh kind of impurity atom is added to
Semiconductor to make it P-Type?
(A) Pentavalent
(B) Trivalent
(C) Tetravalent
(D) None

ﬁ:‘amaﬂm“g&ﬂmvﬁm#
W}mm%.aﬁp-wwmamﬁa%fgm?

(A) derdere

(B) sreddie - ﬁ
(C) Sgrdeie
(D) Y &f _
727 The self inductance of a coil can be changed
by -

(A) changing electric current in the coil

(B) changing number of turns per unit length
of coil

(C) changing temperature of the coil

(D) All of the above

) Tvseh 4 figa gt aga ax
®) #vseh @ ofy o o 4 omad A

73>

74,

If two identical 3A. 4.0 Norton's equival,
circuits are €onnected in paralle| With ],-1:
polarity. The combined Norton's equivy),,
circuit will be -

(A) 6A. 22

(B) 0A, 20

(C) 6A, 8Q

(D) 34, 80Q

afy &Y |9 3A,4 0 AT Tde Wiy
wHya Ated Gadd afe 8 —

(A) 6A,2Q 7

(B) pA, 20

(C) 6A, 8Q

(D) 3A, 8002

Find the cument through each element and
potential difference across 159 resistor —

542 100

F T 7 Py
- YTy Yw

100V 100 150

(R) 30.7
(B) 257
{€) 40.5
(D) 28.5/

u?aasac—q'a%mq%aﬁmsﬁnsnnﬁrm
4 HIfaE 3R o Ao —

50 100

100V 100 15Q

(A) 30.7

(B) 25.7
(C) 40.5
(D) 28.5
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144 /a)

75. What 1s the emp; ;

Pirjg,
the determinatioy, o u Tormula employed for
case of alumin;, P

ey, ductors in
m g of con
(A) VS+v/i1 50 nndllu.,r-_y

(B) VS+Vv/100
(© VS+120/y
(O) VS+V/1ky

RRT @ Frufzs o 2 Wiy § asecdl @
T w2 férg Frpfora srpiawr
(A) VS+v/150
B) VS+v/100
©) VS+120pv
® VS+v/1kv
76. The materia
high Voltage] ;;&T?;u-y Used for insulation in
(A) Lead
(B) Paper
(C) Rubber -
(D) None of the above

77.  Load factor is define is —
(A) Maxium Load

Minimum Load
(B) Average Load

Peak Load
(C) PeakLoad

Average Load
(D) Peak Load

T8 What is the input Cunt:;g
Phase motor, 240V & o
p.F?
(A) 1352 o
(B) 1095 A
(© 695 o
(O} 1768 A

SEAT wv 24y 3w 0.8 P-
(A) 1357 4
(B) 1095 A
© 6954
(D) 1768 o
" In LC ransistor oscillaton
Component ysed is —
(A) Capacitor
(B) Resistor
(©) Transistor

(D) Inductor

LC gifre <vore 3§ wgaa wied oc®
2
(A) W
(B) wferny
(©) zifreex
(D) e
80: What is the formula to calculate the numbers
of poles required in LT line distribution?
(A) Span / Length + 1
(B) Length / Span + 10

Bt S (C) Length/ Span + 1
( ) S B 2 (D) Span / Length + 10
HR HR® _
(A) el ars ehast E . .
s W B A B B R qay
7 By (A) 3y /T + 1
I = (B) wiaré /3@ + 10
@ 2= =2 (C) wiard / i@l + 1
D) mr?tﬂ ?:’rz (D) srafy / AaE + 10
( &
_/———/__\
i
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B1. The .
Power factor of g 4 . -
E::)pccted to be ab{mia_"pm Welding machine is Tel ‘ﬁ: :;Wéqj ?‘gﬁﬂ ﬁg%"‘ *‘ﬁfr&.
unity LR £ g ha i & 3
B . vV a-Ve) T o5 L
k :c: 0.8 10 0.85 fagglng P dl (Va-Ve it @y
v 03wos lugging
(D) 0.75 0 0.85 leading LM;@OW__,
A - 8
XTE AfFen wehe & UTaR ey g8y N
F o g@ @ IR 8 (A) 20V
(AY T - (B) 30V
(B) 0.8 & 0.85 TTAITH - i i
(C) 0.3 9 0.5 ugaf E © 10
(D) 0.75 & 0.85 ST D) 5V
B2. g, e 2 85. A current of | mA is flowing i duc
f;’SL:rdfn welcing Isinormallyies récommended 1haj‘l number of ;Tect:;m(;:;ﬁ;ng'thizzg?::r
(A) Copper & high copper alloyg seconds in conductor is -
(B) Aluminium alloys (A) 625 % 1015 '
((g)} Stainless and coated steels (B) 1.6 x 10 :J
Alloys of nickle and magnesiym {C) 1.6 % 10'6 :
AR G WA AT B Ry a8y (D) 6.25 x 10"
ol & —
(A) dfer iR S dfar st g IEd W 1 mA B gR1 a7 @ 2| AR T
(B) vpfifas . F ufy Thvs ¥ ToRe ATl gorHT o W
(C) w+erg a3k afta View 1 Brr?
(D) Fwrer v FNRmw & Ay (A) 6.25 x 10'
83. Gamma is the ratio of - (B) 1.6 x 107'®
(A) collector current to base current ©) 1.6 x 10"

(B) base current to collector current
(C) collector current to emitter current
{D) emitter current to base current ~

(D) 6.25 x 10"
86. As compared to a 2-wire DC distributor, 9-3
wire distributor with same maximum voltage

MHI...... BT AT B 2 to earth use only -
(A) HUTES N7 3R AR &N (A) 31.25% of Copper
(B) IR URT 3R GUTES N (B} 66.7% of Copper
(C) TuTE® g1 3R IcAGD SR (C) 33.3% of Copper
(D) ST HRT 3R IR &R (D) 125% of Copper
84. The figure shown is a branch of an electric
current, where current is moving from A to B. 2 AR S Raws A e §, ged TR T
Find the value (Va-VB) - IRFay dedd @l 3 dR e e
IA 50 o0V i, n GTRﬂ‘T gl % =
:——-—'MW——TF'_——?‘!V—'W_—.B (A) FY F1 31.25%
(A) 20V (B) i &1 66.7% "
(B) 30V (C) & &1 33.3%
©) 10vr ) @ & 125%
(D) 5V A e
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rhe magnctic "”'l‘m
(F

ar certain inductor 251 “Nergy stored in a
the m_du&.‘lﬂr i r‘“ll!j\:.l “hen the current in
;:;":;’;'::H'H his indutor is of
(8) 1389 H~
(cy.138 H
(D) 1.389 H

Cd R Oves }
o 25 m) Gmﬁﬁ;:?%f‘ faaa Resfira
T 60 mA 2 oy U ’ q.qq-[@a 291 gref
(A) 138.88 H Tepe g &7
(B) 13.89 H .
(C)0.138 H
(D) 1.389 H

88. During electric are welding ... ‘
the metal to be welded in £ 45 the thickness of

(A) current and volry
ge h(“h a
are reduced

‘B) current iS i]'](:l"(‘.' 1
= ased kcepi ng vol [ﬂgﬁ
(C] Vﬂlti'lge 15 incrcas'
; ; Ed keeping current ‘he

(D) current and voltage both are increased
aﬁsélcnﬁaaa; T WET B ey PO

7 AT T ) Her agd o 2 -
(A) Be IR N 2 7y & o

CicI- S
(C)gﬂ'eas’rwwﬁgqa‘lﬁmmw

(D) ¥e 3R AT AT g o ¥
89. What will be the effect on the capacitance of

the capacitor when the area of the parallel

plate capacitor is reduced?

(A) It will increase

(B) It will increase initially and then decrease

(C) It will decrease

(D) There will be no effect

WWW.WWMHW?IW
44
(A) e ag A

(B) ae g # i e

2. '
What shoutd be the height of the

s

T cm——
e
oof puie :

) |.1_‘~\\ th:
an S5m
(B) Less than 3m
{C) More than 10m
(D) Mare than 3m

W%‘mmwﬁﬁ?

e i
©) 1om 4 -
L IR PR STe

i Mag“eﬁc

91" poi

Point g, the wrong staterment. -hines
leakage g undesirable in electn® e
because it -
. ;
(A) Lowers their power efficiency

(B) Produce, fringing
©) Leads 10 their increased weight
(D) Increases their cost of manufacture

T T ) gy @ R @ % I
e st & iifes 7€ —
(A) S o qarer o @ e B
(B) fbfrer tar aear &
(C) 378 R gy q & 3w AT & 7
(D) 3715 frefor & T @aTw -
92. As compared 10 a bipolar transistor, a JFET
is -
(A) More sensitive changes in input voltage -
(B) Less sensitive changes in input voltage
{C) Highly sensitive to changes in input
voltage
(D) Equally sensitive to changes in input

voltage

grguieR gifeR A T H T JFET §
(A) gAge A H A WIS Rty
(ijmﬁwwqﬁaﬁq

SCES RIS
(D,Wﬁaﬁuﬁﬂﬁﬁaﬁuﬁfmm

Q GG
_.__—-—-—'-"'""__'_-_—_-_____""‘“—‘-—-——--_._._

(C) wg we il ~
(D) 1 gHTd “ﬁ_T’,J

-
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E 1“ common emitier COH[I

collector (1) saturation i
200 - raton if Is = 2ma 9. Ama feaclo .
A) 0.8 mA WA & Ba = t‘o]'[I:n.:?:;‘} lon depends on which of th, o
(B} 0.ainA (A) Magnitide of load current
() 0.9mnA (B) Power factor of load
(D) 0.6mA = E;)} Es;nh t#-f):— (B)
Wmﬁ ) | None of the above
s T ee=200 | o &
E;: 0.8 mA — (A) Fre URT B BN
0.4mA (B) wfya UG (A B)
Eg; 0.9mA (C) 1 (A) MY (B) W~
0.6mA (D) g E
Two sma.}smdal emf are given as — 87. A Norton circuit with 10 A current source and
e, = Asin(wt + T/,) . 15 © resistance is copnecied across a
e, = Bsin(wt — ) resistance of 5 Q. The current in 3 Q
The phase di . resistance will be -
in degr:-ﬁsdiﬁmnw DEtWEeD PO ARECS A)T5A .
A) 105° (B) 10 A
(A) 105 F o
(B) 75°~ e (C)23 A
(C) 60° (D)5 A
D ¢
(13 mAmﬂﬁﬁaﬁuquﬁi\ﬂa\sww
E‘(Wﬁﬁ'ﬂ'ﬂﬁ'ﬂﬂ?ﬁ?ﬂﬁm%—- = “td gRTu § Q@ uRRM B IR IS BN
e, = Asin(wt+ /4) 2\ 5 QuRRw § urt @ B
e, =B sin(wt — “/ﬁ) s (Ay75A
sue fo A AT A @ dE A G G ®I0A
fasaem 87 bA . ©25A
(A) 105° B [PYSA
(B) 75° 98." When a pure inductive load is connected to the
(C) 60° alternator, what is the effect of armature
(D) 15° : reaction?
95. [n an AC circuit, if voltage V = (a + jb) volt |« (A) Cross Magnetization
and currentis I = (€ + jd) Amp, then the active s (B} Demagnetization
:)Ao)wer b %; ven by - ~— (C) Magnetization
ac + 4 s
D .
(B) be - ad (D) None of the above
(CLbe +a0 ST W Y e ¥ e
(D) ac + bd w8 X o g
: G iR wiaiean &1 U
WACqﬁqwﬁ,uﬁfaﬂﬂVﬂaﬂb)ﬁ’R ) L =
HWI:(c+jd}Amp§,ﬂ’Iﬂﬁﬂ aqi &7 ‘ —
grft? () e AreEeT (T
(A) ac + ad (B) fagaeax™
:g) be - ad (C) FreTEHTH (Ga)
Ele £ oS
D) ac + bd - ______—-——-"""“’”"r'd_—_'__rﬂ

guration, fing the

T

= -z MA
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9. “!ha!l is the Fatye, of
s 2 ~loy;
speed of 200 kva pn loag speed to full load

VL i * g il 102' g ™ e E
;;;]hmm us Motg, Poleg 2200V 30, 60 Hz J::;Nl?tl::-:?;::_cmge CAMETS in an wpN
(B) Infinite :‘;: :\ucqrunn
(c) 1.21 ! ﬂlles
(D) 1.1 :gi ;:,:'r:t:l:m Atoms -
alent Atoms
200 kKVA, 12 poje. 1 NPN ziftrex & ageien o aress o &
R Hrey g:;r shzgﬂ e, 3¢, 60 Hz ] Eﬂ) .
&1 JIUIT By e 3R gE W N Fetagt -
(A) | - N (B) gty
: R © Priarss
ST )
{‘2; 1.21 . L “"a“'“‘mﬁa;ﬂ“’l
(D) 1:1 - 103, (\:r)]‘l]é‘;h ofc;he following is not true for JFET?
1007 Those material are P — 1s bi::t;& ource p-n Juction is always reverse
permanent magnets ., Blvd comermsn :‘:b (B) Gate-source p-n Juction is always forward
retentivity and ... " i o biased
(A} high, low e POSRCIVILY. TS ©) [;]rain clllrrgnl is controlled by changing the
(B) high. hi channel width
< k:i hi’gih %1‘ (D) ;FET is 2 voltage controlled three terminal
: s o evice
(D) low, low
/9 ggﬁrﬁaﬁm A ¥ BF IFET & forg ad =t
I APl W e T @ g st e o '
; 3 A - B 1
¥ ot &R e W TETN pa s st R s
"""""" franfear £ b (B) T8 p-n Wi w9en GRS v
(A) 3=, &9 - <r g g
< .
(B) 3=, 9= - (C) A7 aﬂ%ma‘mé_ fﬁ’r;a'aaﬁr 1 TN B
(C) 79, 5o A R TN 8
(D) JFET & aew frifyg &= coffqe
(P} 4. "o N Rearew & .
101. [n an electric arc welding, the voltage required :’:3 104. How many earth connection are required for
to strike an AC arc is about - :‘rj the motor frame as per the IE rule 617
A -60V ) (A) One
(A:30-160 < (B) Two separate and distinct
(B) 230 V i B (C) Three separate and distinct
(C)i00-120V (D) All of these
(D)80-90V
- [E frm 613 ITER m:‘l ® forg fFaa
i AC 99 ¥ YeX ?
v fega ag afeeT 4. TP g o] G @ S
B B farg aavad dieed o (R) UF ' ﬁ
(A) 50 - 60 V (B) = arerT AN 3
50 - 60 AR AT
(8) 230 V (€) i JrerT
©100-120V 7 (D) T

(D) 80-90 V R ———
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108
* N-p-n transjstors {
Pty stors are preferre -
[:mm_.slors because they have - HLover P
(A) high mobility of holes

(B) higher mobili

“r mobility of electrons
= n.mh:hly of holes in p_n‘pt:;?n%- than the
(C) low mobility of holes Aalston,

(D) equal to mobility of holeg

fon (D) f5gi a wfrshreren & s
- When the length of the solenoid is doubled

witho ' cha i
ut any change in the number of turns and

?;;e? of the coil. Then its self-inductance will

(A) Doubled
(B) Half times
(C) Unchanged
(D) Nine times
i e gl i .
EEGIC LIGRIES CIF
St 8 A FEH W-WRebo ? ST
BT |
(a) <y :
(B) amer 1 : &
(C) 3mRafda
(D) FY AT
107" Consider the following two statements —
1. Kirchhoff's junction law follows from
conservation of charge.
2 Kirchhoff's loop law follows from
conservative nature of electric field.
(A} Both 1 and 2 are wrong
(B) | is correct but 2 is wrong-
(C) Both | and 2 are correcl
(D) 2 is correct but 1 is wrong

o TR AR B -

1. s wgﬁ"“’"‘ i
Gefor | I € | ]

2. favdie & g4 Wmaﬁw
gqsfﬁﬁ&ﬁmal

(A) | 3R 2 QY Terd &

(8) | 7 & A 2 Ted 8

(C) | 3k 2 il wf B

(©) 2% & af 1TEE

T

08. ap changing trans
i :;;(::?dcd mf—_ & transtormer, the tappings g,
(A) Primary winding
(B) gecondaiy winding
(C) High voliage winding
(D) Any of the above

wep 20 9T SR §, 2f a0 g

—
(A) g ¥
(B) g Ti3fEm
(©) &g At aEiEy -
(D) IURET 4 | w1 W
109. The usual spans with RCC poles are —
(A) 300 - S0 m
(B) 80 — 100 m
(C) 60— 100 m
(DY 40 - 50 m
AR 9 & A gEg G
£l '
(A) 300 - 500 m
(B) 80 — 100 m ~
(C) 60 - 100 m
(D) 40 - 50m
1107 In ACSR conductors, the insulation between
aluminium and steel conductors is -
(A) Varnish
(8) Bitumen
(C) No insulation is required
(D) Insulin
ACSR #s@ex ¥, uapfifum 3R e
Feae $ 4 FgoITH & —
(A) arfdter <
(B) fagw
(C) F1E 3=gATA B geIDHar e 2
(0) ggfert
111. The potential to which a conductor is raised,
depends on -
(A) The amount of charge
(B) Geomelry and size of the conductor
(C) Both (A) and (B) -
(D) None of the above
a8 favd ol a@ didd @ SSr o E
. O TR R R

(A) arrg @ AT W
(B) urcid ) SR SR SR
(©) (A) 3R (B) &

(D) g U DS '-Té’i____

e

bl - Page 20 of 24
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12 What does seen
(AY I'enaliy for g llumu‘\h
(B) Thett ot cnerpy

m
Hreler, (o0

hop wastung Cncrey

(C) Penalty for mterterenee With meters
(D) Penalty for allega)

clichrgy

lransimyssjon or use of

NT 44 P waiia gy @0

(A) gl ®9 A Sl aate aw & B
£

(B) G- @Y 18

(C) Mew & |r1 gwTe @ o ot

(D) 3der FaRW W Wl & IYART B A T

In a resistor, the first three bands from left 1o

right have colours Yellow, Purple and Red

then. what will be the value of resistor in ohm?

(A) 540

(B) 4700

(C) 52000

(D) 6700

113.

e g ¥ A1 ¥ A q% uEd i A A
dren, S, ara 1 &, ar ol A ufeRm &
q19 @ BhTY
(A) 540
(B) 4700~
(C) 52000
(D) 6700
114. Which of the following is a type of fusion
welding?
(A) Forge Welding
(B) Friction Welding
(C) Ultra Sonic Welding
(D) Carbon Arc Welding~

P 4 4 @ i AR (usion

welding) &1 TP TP ??
(A) s dfesT
(B) v dfcsT

(C) ynrsen dfesT

(D) 1 s afesT e

e

24 ma

<
esistor in

The Thevenin voltage & the 1€
and

it

given Citeuil is
R'spu.luc[}.‘

M 2057 v.2) va
®la3ov.a ) a.
©257v.2057 k0
@) 432 v. 2057 k0

2 vﬂﬂ
24 ma, 6k

R o ofw 4 oy e ofT wferTel
(A) 20,57 V: 21 kQ
B)432v;2.1kQ
(C) 2.57 Vv, 20.57 kQ
(D) 43.2 V; 2057 kQ
116. A 10mH inductor carries a sinusoidal current
of LA at a frequency of 30Hz. The average
power dissipated by the inductor is -
(A} 1.0W
(B) 0.5W
(C) 0.25W
(D) OW

fadl 10mH BZER H T 1A o TS
o1 S0Hz IR T TE WA 2. A 30 gyech
gt R EA?
(A) 1.OW -
(8) 0.5W 4
© () 0.25W
(D) OW -

"

—

b
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117. What is this drawn circuit called?

je =1
SSINE N .
(A) Clipper o
(B) Positive clipper -
(C) Negative clipper ﬁ
(D) Clamper

A T o Wi T o ¥
T

+
K RV, ‘_U
(A) fregz

(B) e foreuw
(C) =ors R
(D) FRaR

AAA
TERY
-}

118. The frequency of voltage generated by an

alternator having 8 poles & rotating at 250
rpm is -

(A) 60 Hz
(B) 50 Hz

(©) 16:Hz

(D) 25 Hz

wsﬂamﬁﬁﬁﬁzsorpmmmqn
&1 & orRes dreew Y gy @ e

(A) 60 Hz

C) 142 X .
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119. The power factor of an ordinary electr | 0
is -
(A) slightly more than unity
(B) unity
(C) zero
(D) slightly less than unity
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120. The knowledge of diversity factor helps ip
determining -
(A) peak load
(B) plant capacity
(C) average load
(D) kWh generated
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